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BEIDEAWD A

B ECEIIREIIIEFEANEILL),

@D 17000kg = 17 t
@ 1050g =| | kg 50 g
@ 8kg = 8000 g

@ 11t300kg =| 11300 kg
® 4400g = | 4 kg 400 g
® 8t =| 8000 kg

@ 30400g = | 30 kg 400 g
® 390000kg = 390 t
@ 500000kg = 500 t
19500kg = | 19 t 500 kg
@ 30kg =| 30000 g

@ 180kg = 180000 g

/24

® 1360kg =| | t 360 kg
@ 8020g =| 8 kg 20 g
® 20000kg = 20 t
lkg 6g = 1006 g
(D 5kg 890g = 5890 g
7t9kg =| 7009 kg
@ 20000g = 20 kg
@ 5400kg = | 5 t 400 kg
@ 9t890kg =| 9890 kg
@ 63kg =| 63000 g

@ 710kg =| 710000 g
@ 1050kg =| | t 50 kg




